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Class canceled Thursday.

This Week: 2.8, 2.9

. [-/1 Points] DETAILS SCALCS 2.8.022.MI. PRACTICE ANOTHER

A boat is pulled into a dock by a rope attached to the bow of the boat and passing through a pulley on the dock thatis 1 m
higher than the bow of the boat. If the rope is pulled in at a rate of 1 m/s, how fast is the boat approaching the dock when
it is 9 m from the dock? (Round your answer to two decimal places.)
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Use a linear approximation to approximate sin(47°)
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The edge of a cube was found to be 30 cm with a possible error in measurement of 0.1 cm. Use differentials to estimate the
maximum possible error, relative error, and percentage error in computing the volume of the cube and the surface area of
the cube. (Round your answers to four decimal places.)
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Yes, Mark. Tangent Line is 1st-degree Taylor Polynomial forf .

Yes. This is all pointing towards Taylor Series in Calculus II.
I
£6) 2 _f&.) + £G&)G-x)

~ £G) 3 FO0 (%) + E f" (x=2)

foy = Lo+ FEYbox) = EER (3 4 R B

o



	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6

